| Agenda Ite | em Number | 1 |
|------------|-----------|---|
| | em Number | l |
| | OP | |

DATE August 10, 2009

ORDERING CONSTRUCTION OF 1235 DAVIS AVENUE SOIL STABILIZATION AND FIXING A DATE FOR RECEIVING OF BIDS ON SEPTEMBER 1, 2009 AND PUBLIC HEARING ON SEPTEMBER 14, 2009 ENGINEER'S ESTIMATE IS \$116,074.00

BE IT RESOLVED BY THE CITY COUNCIL OF THE CITY OF DES MOINES, IOWA: That the attached communication recommending construction of the following improvement and the method of financing; and also including the recommendation of the Des Moines City Engineer, as the Jurisdictional Engineer, submitting plans, specifications, form of contract documents, and Jurisdictional Engineer's estimate of cost for the construction of the following improvement:

1235 Davis Avenue Soil Stabilization, 04-2009-017 69-6114-9-49

The improvement includes construction of a mechanically stabilized earth wall and drainage way improvements, together with the necessary appurtenances and restoration; in accordance with the contract documents including Plan File Nos. 507 - 127/134 at 1235 Davis Avenue, Des Moines, Iowa

be and the same are hereby approved and accepted. The estimated construction cost for said improvement is \$116,074.00. The proposed plans, specifications, and form of contract documents are available for public inspection in the City Engineer's Office.

BE IT FURTHER RESOLVED: That this Council hereby determines that it is necessary and advisable to construct said improvement in the manner set forth in the plans, specifications, and form of contract documents submitted by the Jurisdictional Engineer; and that payment for the cost of said improvement shall be paid from the funding source identified below.

BE IT FURTHER RESOLVED: That a public hearing on said plans, specifications, form of contract documents, and Jurisdictional Engineer's estimate of construction cost for said improvement be held in the City Council Chambers, 2nd Floor, City Hall, 400 Robert D. Ray Drive, Des Moines, Iowa, at 5:00 p.m. on September 14, 2009, at which time this Council will consider any objections offered thereto or to the making of said improvement.

BE IT FURTHER RESOLVED: That proposals will be received by the City of Des Moines, at the office of the City Clerk until 11:00 a.m. on September 1, 2009, for the construction of said improvement, and the taking of bids in the manner required by law. Proposals received will be opened at a public meeting presided over by the Jurisdictional Engineer in the City Council Chambers, 2nd Floor, City Hall, 400 Robert D. Ray Drive, Des Moines, Iowa, at 11:00 a.m. on September 1, 2009, after which the bids together with a bid tabulation and recommendation of the Jurisdictional Engineer will be presented to the City Council at its next meeting for action thereon. The Council will not award a contract for this project until after the following have occurred:

- 1. The revised USDA NRCS agreement, being presented for City Council consideration on this August 10th Agenda, is approved by the City Council and signed by the USDA, and
- 2. An amended agreement is approved between the City of Des Moines and the property owners at 1235 Davis Avenue, Trelen J. Wilson and Linda L. Bender, increasing the property owners' financial share of the project to cover a portion of the shortfall resulting from the revisions to the USDA NRCS agreement.

| A | | | |
|----------|------|--------|--|
| Roll | Call | Number | |

| Agenda | Item | Numb | er / |
|--------|------|------|------|
| Agenda | | abla | Ц |

DATE August 10, 2009

BE IT FURTHER RESOLVED: That an appropriate Notice to Bidders and Notice of Public Hearing for said improvement be published in the Des Moines Register as provided and directed by Chapter 26 and/or 314, Code of Iowa.

Funding Source: 2009-2010 CIP, Page Storm-4, City-wide Storm Water Utility Projects, STE057, Being: Various funding being:

- \$87,055.50 in Federal funds from the United States Department of Agriculture (USDA), Natural Resources Conservation Service (NRCS), Emergency Watershed Protection (EWP) Program funds for 75% of construction contract costs not to exceed \$88,350 per Agreement No. 69-6114-9-49 approved by Council on June 8, 2009 under Roll Call 09-1005
- \$25,000 in private contributions from the adjacent property owner being State of Iowa grant funds from the Iowa Finance Authority as administered through the City of Des Moines, Community Development Department Jump Start Program per agreement with Trelen J. Wilson and Linda L. Bender approved by Council on February 23, 2009 under Roll Call 09-280
- \$4,018.50 in Storm Water Utility funds from STE057

| COUNCIL ACTION | YEAS | NAYS | PASS | ABSENT |
|----------------|------|------|---------|----------|
| COWNIE | | | | |
| COLEMAN | | | | |
| HENSLEY | | | | |
| KIERNAN | | | | |
| MAHAFFEY | | | | |
| MEYER | | | | |
| VLASSIS | | | | |
| TOTAL | | | <u></u> | |
| MOTION CARRIED | | | | APPROVED |
| | | | | Mayo |

I, Diane Rauh, City Clerk of said City Council, hereby certify that at a meeting of the City Council, held on the above date, among other proceedings the above was adopted.

IN WITNESS WHEREOF, I have hereunto set my hand and affixed my seal the day and year first above written.

City Clerk

1235 DAVIS AVENUE
CITY OF DES MOINES SPONSORSHIP
WITH USDA-NRCS FOR THE
EWP RROGRAM

Jile-dotes

8 A

CONSTRUCTION ESTIMATE

DEPARTMENT OF ENGINEERING CITY OF DES MOINES, IOWA

Activity ID 04-2009-017

DATE: 7/24/09

PROJECT: 1235 DAVIS AVE. SOIL STABILIZATION

| | | ESTIMATED UNITS | | | AMOUNT |
|--------|---------------------------------------|-----------------|---------|-------------|--------------|
| NO. | DESCRIPTION | UNIT | TOTAL | UNIT PRICE | TOTAL |
| 1 * | COMBINED CLEARING & GRUBBING | LS | 1 | \$1,500.00 | \$1,500.00 |
| 2 * | STRIPPING, SALVAGING & SPREAD TOPSOIL | CY | 265 | \$10.00 | \$2,650.00 |
| 3 * | CLASS 10 EXCAVATION | CY | 385 | \$8.00 | \$3,080.00 |
| 4 * | CORE OUT EXCAVATION | CY | 50 | \$15.00 | \$750.00 |
| 5 * | DITCH RESHAPING | LF | 225 | \$20.00 | \$4,500.00 |
| 6 * | TREE REMOVAL | LS | 1 | \$3,000.00 | \$3,000.00 |
| 7 | SUBDRAIN, 4" DIA. | LF | 114 | \$15.00 | \$1,710.00 |
| 8 | SUBDRAIN, 6" DIA. | LF | 82 | \$15.00 | \$1,230.00 |
| 9 | CMP APRON, 12" | EACH | 1 | \$350.00 | \$350.00 |
| 10 | NYLOPLAST DRAIN BASIN | EACH | 1 | \$1,000.00 | \$1,000.00 |
| 11 | 6" RODENT GUARD | EACH | 1 | \$20.00 | \$20.00 |
| 12 * | LIME SLOPE STABILIZATION | LS | 1 | \$9,000.00 | \$9,000.00 |
| 13 | MSE RETAINING WALL | SF | 1887 | \$35.00 | \$66,045.00 |
| 14 | RETAINING WALL FENCE | LF | 106 | \$15.00 | \$1,590.00 |
| 15 * | TREE PROTECTION | LF | 150 | \$4.00 | \$600.00 |
| 16 * | SCOUR STOP TRANSITION MAT | SF | 16 | \$20.00 | \$320.00 |
| 17 * | TURF REINFORCEMENT MAT | SF | 507 | \$5.00 | \$2,535.00 |
| 18 * | STRAW EROSION CONTROL BLANKET | SY | 450 | \$3.00 | \$1,350.00 |
| 19 * | RIP RAP, CLASS D REVETMENT | TON | 84 | \$40.00 | \$3,360.00 |
| 20 * | CONVENTIONAL SEEDING & FERTILIZING | AC | 0.25 | \$3,000.00 | \$750.00 |
| 21 * | SILT FENCE | LF | 192 | \$2.00 | \$384.00 |
| 22 * | CONSTRUCTION SURVEY | LS | 1 | \$2,000.00 | \$2,000.00 |
| 23 * | MOBILIZATION | LS | 1 | \$8,000.00 | \$8,000.00 |
| 24 * | PROJECT SIGN | EACH | 1 | \$350.00 | \$350.00 |
| repare | ed By: DAVID MC GUFFIN | •! | | | |
| Checke | d By: | TOTAL | CONSTRU | JCTION COST | \$116,074.00 |

* Item does not have to be included in 4-year maintenance bond, but shall be covered by a 1-year maintenance bond.

* Estimate Total=

\$44,129.00